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The goal of this document is to provide a easier introduction to olympiad
inequalities than the standard exposition Olympiad Inequalities, by Thomas
Mildorf. I was motivated to write it by feeling guilty for getting free 7’s on
problems by simply regurgitating a few tricks I happened to know, while
other students were unable to solve the problem.

HAE—WER © TMEHIEREM > eye (cyclic sum) FnERE LR N > sym (Symmetric
sum). SBAEG] - G =8B BN
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cyc

Z a’b = a’b + bc + a

cyc

Y ="+ + 0+ 7+

sym
Z a’b = a®b + a’c + b’c + b%a + *a + 2.
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1 ZHEAWAER

1.1 FIAEFXA Muirhead NER

UL T HER o

FH 1 (FHAR%ER / AM-GM). £ a1, ag, ..., a, HIEEE - HI

a +ag+--Fa,
n

TR R S ar =ac = =an °
B - AR

> far - ay.

a?+ b > 2ab, a® + b3 + 3 > 3abe.
EEEAFE AR » gia e —Le B AR arE o S{E G

BT 2. 3FE a? + b2+ 2 > ab+ be + ca F a* + b* + ¢* > a?be + b%ca + 2ab.
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(&) FIH AM-GM f[15

a® + b2
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b +c 20 +c*+a
> & rer=
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c 42—a > ca 2c +Z +b

> b2ca.
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a?+ >+ >ab+be+ca Fla* + b+t > a?be + bPca + Aab. O
BEE 3. A3 o’ + 0+ & > ad®b+ Ve + Ca
BRERE 4. 568 o® + 05 + & > adbe+ b3ea + c3ab > abe(ab + be + ca).

REEZEEERHAKEZHEXKEL K > Bl o +0° + & ZHRKRHY * abe EE/D
H o KM » HER “mixed” RIZIEFCZ LBV o FHIEL > AIWIBE K e.g.

(a4+b+c)3 > a® + b+ + 24abe

R A MBI o3 + b2 + ¢ HHELIE » A8 HFT 24abe > TRV AM-GM LA T ©
— & &7 A A € B & Muirhead EH o WIRGEMBEEY 21 > 20 > - > 2, M
Y>>y > >y, 0 R

TiA @2t Ty = YrF Y2+ Yy
BERNEEE=1,2,....n-1F
rrtx2t-t T 20 Y2+ + Uk,

AR (2,) B (majorizes) (yn) * B (zn) = (yn) °
R4 Bt - FeMmts

EH 5 (Muirhead NER). WK a1, a0,..., 0, HIEERE > H (z,) F (yn) » LFHIAE
Zaafla? cart > Zazlﬂaéﬂ So.aln

sym sym
B+ 6. FA (5,0,0) = (3,1,1) = (2,2,1) * &
a® +a®+ b+ ++ > aPbe+ adbe + bica + b3ca + Bab + ab
> a?b%c + a?b’c + b*cPa + b2 Pa + Aa®b + Pab.
HI AR a® + 0% 4+ ® > a®be + b3ca + cBab > abe(ab + be + ca).

{F & Muirhead ;=¥ H8RHY » ANSTEERAY o HAEF] » HEIR (3,0,0) = (2,1,0) 5 {HZH
Muirhead 7] 15 H

2(a® + b + ) > a®b + a’c + Ve + b2a+ Pa + b

Bt IANET FIZREER o 4 0% + ¢ > a®b+ bPc + a ° TERFREE A AM-GM AR ©
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1.2 AEREAER

ERUTHIER -

Bl 7. WR abe =1, HiF a®> + 2+ >a+b+e.

(%] FONEXMBARER KL > FrLOEH AM-GM 741 5 80980 — - (=
A BRI E S — o A abe =1 FEAFXATHEAL

a2 4024 2> alBpRe 3 (a v bt e).

A NS RBUTERTRIR » ARBAE o, b, c WRE—ME £k > 0> FENFAW SR
b B ARERFROAENX  FrGER RS AL ZEAE abe = 1 BB - FR
(2,0,0) = (4,1, 1) > FIH Muirhead BE5ER T © O

iE(E 7 AR E R v] DUEE B AR BGE  EREE o GEREJT VAR AT USGR K
A R EAE T MBI —E CRERR) #Re )

1.3 SEBE

1. a” +b0" 4+ ¢ > a*® + b4 + ¢tad.

2 H akbrom1 B e b s S
3. %+g+£2a+b+c.
LE L =LA @ DO+ e+ 1) 2 64

2

5. (USA 2011) & a®> + b2+ 2+ (a+b+c)? < 4, {I

ab+1 be+1 ca—+1
> 3.
@t T hto2  (ctaZ

6. #& abed =1, Al a*b+b*c+ctd+da>a+b+c+d.

2 EREBHIAFN

2 f (u,v) = R BB Hi% a1, ae,...,a, € (u,v) ° B FAM [E 2 W =a
(I RAFEXSTTRE - MV & B CIEMEEE) o mAERE

fla) + fla2) + -+ + f(an)
KA (B/NR) nf(a) o LA =AETT

HME#—HHE f 2UHBEURENER « F () >0 HEEH « F f"(z) <0
HTERE [ 2MEKE - ERUR f AR E > —f WA MR -

2.1 Jensen / Karamata

EH 8 (Jensen NER). WIR F AEE > A
flar) + -+ flan) Zf<a1+---+an>_
n n

a5 f RIS ANFRM
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FH 9 (Karamata )., WE £ BYEH H (20) 5 (y) > B
fla) +- 4 flan) 2 flyr) + -+ flyn)-
[ RMEHE > AEFXMER -

#lF 10 (Shortlist 2009). & a+b+c=1+1 41 53%

1 1 1 3
< —.
(2a+b+c)2+(a+2b+c)2+(a—|—b—|—20)2_ 6

(] Scibheh M« FEEEE

1 1 1 3 143412
+ + < .e-b e
(2a+b+¢)? (a+2b+¢)? (a+b+2c)2 16 a+b+c

BAAERERNEEIRT » FILLAIATEE a+ b+ c =3« NEXBEET AL

B
2 16a (a+3)2 = 7

i f(z) = ﬁ - (xig) 5, WFE f F (0,3) L2rEE > #H Jensen BLESE T © d
BT 11. RFHE

111 1 1 1 9
ST+ >2 - + >

a b ¢ a+b b+c c+a a+b+c
(F] JiEsEEA
1 1 1 1 1 1 1 1
E+5+22J+M+Cﬂ2a+b+c+a+b+c+a+b+c'
2 2 2 3 3 3

AHBF a>b>ceo i f(x)=1/o° K

a+b a+c b+c a+b+c a+b+c a+b+c
(a,b,c)

2 2 2 3 3 3
HH Karamata BUFR T » TFIR f(z) =1 - O
BT 12 (APMO 1996). # a, b, ¢, = fATEHIE - A7
Va+b—c+vVb+c—a+Veta—b<Va+Vb+ e

(#F] T a>b>c HEB (a+b—c,ct+a—bb+c—a) > (a,bc) > FFHA
Karamata # f(z) = /x ° O

2.2 Tangent Line Trick

—HREE o = “attn o g f AR IEE  HRFRIER AT LI
f(@) = fa) + f(a) (z —a).

AR ARG Bkt > gkl L4 o iB{# 7775 tangent line trick °
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il 13 (David Stoner). % a+b+c=3> #FH

182m+2(ab+bc+ca) > 15.
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(] FlTaE s R A

> (gmang <) 2°

cyc

A 18 +3
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FTADIAEAC LR IR T O

. _a)?
fflF 14 (Japan). FlEE chc% > % °

(F] FEEER > TR a+ b+ c =3 o FrR MR

(3 — 2a)? 3
Za2+(3—a)2 = 5

cyc

— clc—1)*(2c-9) <0

FIH tangent line method ] LA H

B-a2+a2=5 25 2

20 + 1
ST L ) 0
(=1 5 6ag0 >

2.3 n—1EV
HEUEAEEn—-1EV e BEE—EARNOTE > \J2REH -

15 (n—1EV). 2 a1, a9, ..., a, HEE - HEE a1 +as+--+a,° T fR-R
R—EHEFEE f BIEF— A5 - &

flar) + f(ag) + -+ f(an)
R AREEEME 0 J a; NE n— 1 (AEEEESE -

(8] Olympiad Inequalities, by Thomas Mildorf, page 15. #EBHRIAEIEEFIH Kara-
mata NEI B a; T FE—HE - O

1 16 (IMO 2001 / APMOC 2014). % a,b, ¢ BIEEH - A1 <3, L <20
(%] %ﬁeﬂgzs—g ’ ey:g—g ’ 62':%3 o WAMEER v +y+2=0> HIEHE

1< flz)+ fly) + f(2) <2
HWE f(x) = \/liw o AIEH

(z) = w
(8e* 4+ 1)2
FRUAA n—1EV AN ERE 2=y % t =e® » T DURERE A
1< 2 + ! <2

T VI8t 182 T

B R RT —EE 8 KIaE T DUARIE 5 B3R - O



BRRHZE BRI A E
BIF 17 (Vietnam 1998). % z1, xa, ..., z, HIEHTEIMNE Y moars = 155 ° S

VL2 Tn lx” > 1998.

n —

(8] R y— o B gy +gp+ o+ yo = 1 TRMEEIE

()20

& fla)=1n (L —1) > BB f(y1) + -+ flyn) = nf (L) © BfTAIEE

" 1-2
f(y) W yy)g
W f AR > BRI 1=y = = yn1 ° RWH ¢ AR
=K
1 1
SERCIEIRVNER K G-V O

2.4 HEE
1. FJH Jensen #58H AM-GM o

o 2 2 2 =P 1 1 1 1 1 1 °
2. 50"+ =1, uitni a242 + b2+2 + c2+2 < 6ab+c? + 6bc+a? + 6ca+b?
3. Ha+b+c=23 il

S srraric
202 +a+1 " 4°

cyc

4. (MOP 2012) #F a+b+c+d=4E s+ p+x+ g >+ +F+d%

3 THER BERIAR SR
3.1 Weighted Power Mean
AM-GM FJLIRIELLR generalize ©

EH 18 (Weighted Power Mean). % ay,as,...,a, HIEEE > H wy, we, ..., w, HIE
HH W wi+wo+ - +w, =1° HPNGEEE > EF

(wiaf + waah + - - - +wyat)Y" r£0

P(r) =
aytay? .. apn r=0.
£ o> s B P(r) 2 P(s) | S ETIRIER 6 —ay = - = ay -
BERR 8wy — wg— o —wn— L0 DLERD P(r) ST
<a€+a£+'~+a2>m r#£0
P(r) = "
Yajas ... an r=0.
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IR r = 2,1,0, -1 B

2 2
aj+:--+a ap+---+a n
! n > 2> Yarag . an > -
n n a+...+a

AIEF e QM-AM-GM-HM ° i8] LLE —{E57A2C "IN AR5% - filan

b
\/&+\fb+ﬁ§3\/w.

B+ 19 (BILH5). 33 3(a+b+c) > 8Vabe + { a3+l§'+‘33.
(] 7H Power Mean B2 r =1, 5=, wi = §, wy = 5, A[f5

1s/a3+b%+c3 8\3/— ’ 1/a®+b+c3 8
SHETT T S abe| < (TN 42 (abe).
9 3 Tgver —9< 3 >+9<a0)

FrLAAFERE a3 4 b3 + ¢ + 24abe < (a +b+c¢)® » BAEH © O

3.2 Cauchy #ll Holder

REH 20 (Holder REI). 2 Ao, N, o, A BEEEC R A+ X+ + A =17
‘EQ air,agz,y...,an, b17b23"'7bn7 ceey R1yR2y 0520 %EE%{OE\U

n
(ar+ 4 an) (b + -+ o) (e )N > D ez

)

i=1
ERERA IR B RE a1 cag - ran =by by by = =21 2900 2.
(FB) AABRE e+ +ap,=bi+--+b,=---=1 (EE a; FIIREWEE A
o) o RIEAERIASE S 1, BFIA Weighted AM-GM A5
Zaf‘“bf‘b...zi’\zSZ(x\aai+/\bbi+...):1. O
i=1 i=1

IRFATHE Aa = Xy = 5 EHHR Cauchy FIAER :
2
(a1+a2—|—-~~+an)(bl+b2+~-+bn)Z( arby + v aby + -+ - + anbn> .

Cauchy AJ LABUES AL

2 2 2 2
TP Ty @t 2a)
Y1 Y2 Yn Y1+ +Yn

EEE - _Ea I Tituw's Lemma ©
Cauchy #l Holder AEXE (2/) WEAE

1. fEARITHRR
2. L BHARR
HAE — MM T -
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BT 21 (IMO 2001). &

a
— > 1.
Z Va2 +8be —

cyc

(] FIH Holder Al 15

(Z ala® + 8bc)>

cyc

ol

2

a 3

(Czyc Vva? + 8bc> = (a+bo)

FrA RS (a+b+c)3 > D eye a(a® + 8bc) = a3 + b3 + ¢ + 24abc ° BiHIE ? O
HAiE—EZ M Holder EMRFTHGH -

filF 22 (Balkan). sliH a(bl+c) + b(cia) + C(aler) > 5 27

+b+c)2”
(7] —H Holder :

(£4) (£

§F 23 (USA 2012). 3 Y, S22 > 2 (a? + 07 + ¢2).

(&) FLMHA Cauchy (Titu) 15

1

(Z(z(l)lm>321+l+1:3' O

cyc

=

Z a’ Z (a?)? >(a2+62+02)2

= 5 > .
So3a+b  L=3a?+ab T 3o 3a? + ab
BT EARNER J(a? + 0%+ 2) (R + 02+ & 2R K7 5 lEEEE
ATLUVE HAGE BT A—E AT U)o BEIATEE Y., 3ifb > 2(a?+ 0242 e O

BT 24 (USA TST 2010). # abe =1, i a7 + pierzar + d@rm? 23 °
(] FfTeTLLA Holder {2 BERFJ5{HE -

2 3
(Zab—l—2ac> (Z M) > (Z i) > 3(ab + bc + ca)?. O

cyc cyc

3.3 HREE
L. #Ha+tbte=1, 8l Vab+c+vVbc+a+vea+b>1+ab+Vbe+ y/ea.
2. B+ +2 =12, a- V2 +24+b- VR +aZ+c- Va2 +b2 <12

3. (ISL 2004) % ab+be+ca=1> B3 {/L+6b+ {/t+6c+ /L +6a< L

abc

4. (MOP 2011) va2 — ab+ b2 ++/b2 — bc + 2 ++/c2 — ca + a? +9vabc < 4(a+b+c).
5. (BGEEIE) # o + 0% + 3 + abe = 4, #HFH

(5a? + be)? (56> + ca)? (5¢* + ab)? S (10 — abc)?
(a+b)(a+c) (b+c)b+a) (c+a)(c+b) ™ a+b+c

YRR AT 2
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4 Problems

1. (MOP 2013) & a + b+ c = 3, it

VaZz+ab+ b2+ Vb2 £be+ 24+ Ve +cata? >3

2. (IMO 1995) # abc = 1> & b+c) + bg(cﬂ) + CS(;M) > 3.

3. (USA 2003) B 3, i2thtel < 8

4. (Romania) & z1, T2, ..., T MIEEE » m2.. .2 =1 ° 855 >, — 1+mz <1leo
5. (USA 2004) % a, b, ¢ B IEEEL - 37E

(a® —a®+3) (b° = +3) (® —* +3) > (a+b+c)’.

=

. (BREEIE) 2 a, b, ¢ BIEEEWNE a+b+c= Ja+ Vb + e ik a®bec > 10



